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ECE 2300 — Circuit Analysis — Spring 2001, Section # 11136
Quiz#1

Monday, February 12, 2001

DO NOT OPEN THIS QUIZ BOOKLET UNTIL INSTRUCTED TO DO SO

This quiz has four pages, including this cover page. If you are missing any
page, raise your hand. To complete the quiz you have 26 minutes.

Notes:

1.
2.

3

[7 3 N
b

Be sure that your name, ID number and the signature appear above.

The quiz is closed books and notes!!!

Yeou may use any calculator you choese.

Along with solving the problem, to receive full credit you must:

a) Show all work needed for solution;

b) Clearly indicate your answer (for example, by enclosing it in a box);

¢) Define all variables and parameters, and label them on the circuit diagram;

d) Show all units explicitly, in intermediate numerical results as well as in final solutions;
€) Use the proper notations for all quantities.

Do not use red ink.

Keep in mind that most of the credit for the problem will be given for showing the correct
methods or equations.

This quiz has one problem, and the total number of points is 100.
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ECE 2300 - Circuit Analysis — Spring 2001, Section # 11136, Quiz # 1
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For the circuit shown, calculate the power delivered to the circuit by the dependent current source
"“is1”, and by the dependent voltage source “vy”.
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On the sechion v{ the civeuit formed by R4, 433, and RS

it (5 d'f"md Hhe Posl'fm re,& ne fw e current 45,and
the nede @ (see fhe fv'jurt). o

Then the KcL applied 1o nodt @ L4+15+453=0,
that is:  Ay+ds+3=0, o Ly+i5==-9 )

The KVL a/;plfed 4o +he closed /on#r deﬁ‘ned by R4 andd

RS: Ryty-Rsig=v ,or hosy - 5oLs=0 (2]
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ECE 2300 — Circuit Analysis — Spring 2001, Section # 11136, Quiz # 1
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Then '.ﬁﬂé : {04y = 10% (-5) = —50/1’/-:

- e —

0” ‘)Lhe m"dd/e SCCh‘ﬂn Vf +A€ M'ram.zl !'IL s d.’ﬁ'n&d
the Pm‘ﬁw rekn:nu v ourrents <2 and 43 and

the node © (see he yﬂn')..
Then +the KcL d'b/a/l'ed o node

that (s, Ap+43 =20 (3) . |
The KVL a/)pll’ed +¢ the closed fm‘h Je/mr/d on

Rz, 52, and R3:
4,‘3 —"‘952"(7)

@-. ‘(—"2{'[3 -{5.3 =VI

Rot2 - Py

' v l,)
204> - 3043 = =59 (4). '
, ks 05M')6ﬂ’.'

vt ' \
Hial, 3= 9781 |

- -
- =

Then mp3= -Ra43 =-3vxq=-¢c™ -/’ )
\

| then i 02Ty = 02x 6279)2 ~54/A] |
an ha4]
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On the leff side of fhe cirewdt it is defined the sasihive
V:‘)*“;C f’vax, fvr -fh{ fermina! W(-/wy{ éf the de/b ders]

ourvent sevree [see the ﬁjmrj,

Then the KVL a/o,:/r'ed on this Side:
oq + Redst - =0, from w/im- B
"'-”Q;t =Wag+ R = {00 +40x(-54)= - 4o /vl

g -

Then the pomer delivered # drendt by the clependimf
ouwent sedrot 1S

‘p.«.{.a,cu o oyl = (44olx C54) = ‘33'7“’/”’7!,
and the pawier Aelivered +o oot by the dependent
vaftage Jourd (s

{)dd.by«wa: sz = (o) 2l = - 550wl | |




